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GENERAL INSTRUCTION TO THE EXAMINEES :
1. Teel TEYeH 39e Uy-u3 W A Afarid: fad |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. gt g 1 Al ¥ |

All the questions are compulsory.

3. Y U 1 I & T8 S-gfaen # g fad |

Write the answer to each question in the given answer book only.

4. o7 9o # strafier @ve €, 59 9 & St T 9 € fed |

For questions having more than one part, the answers to those parts are to be written together in
continuity.

5. U-UF F fet 9 oS v H fRE yeR i gfe/siavfatiarys €9 W et v & g
1 &1 H& 1 A |

If there is any error/difference/contradiction in Hindi & English version of the question paper, the
question of Hindi version should be treated valid.

Ques-H
1. Frfefad uei o I T T2t fashed =3 oY Sae-gfient # fafaa- 9%x1=9
(1) fomm uftfeafaar & ereian (qEia) i Tishar gRI S STHIEY Scq= il B 1
(31) fowed (9) wggeT
(|) gregHed (%) gFad
Which is the process of formation of pseudo podiospores of cystified amoeba in adverse
conditions—
(a) Binary fission (b) Multiple fission
(c) Regeneration (d) Budding
(i) fr=1 & @ -1 faifae soet steren & € 2-1
(31) Zett fifie (&) StaHmt (99%)
(|) SF 91 (Tasad) (3) Hem (= HeM)

Which among the following pyramids is inverted—
(a) Energy pyramid (b) Biomass (ocean) pyramid



(iii)

(iv)

v)

(vi)

(vii)

(viii)

(c) Biomass (marsh) pyramid (d) Number (grass land) pyramid

=1 B 9 e I gafia I 8- 1
(1) FFaEAE-T (=) TS -

(®) (31) T (9) < (7) =79 | s T

Which among the following is a sexually transmitted disease—

(a) Hepatitis-A (b) Hepatitis-B

(c) both (a) & (b) (d) none of these

T THThSoh /G5! Sid & €. T, T 9o § feerg 9en ¥ =1 § 9 *i99 o=
3T/ SAfYeR AT H U W g 1
(31) AEE T TEE () TemeE T Afeat

(9) WTEE T STRSA (T) AT TS ARSI

In the histone protein of DNA-structure of a Eukaryotic organism, which among the following
amino acids are abundantly found—

(a) Lysine & Glycine (b) Glycine & Methionine

(c) Lysine & Arginine (d) Glycine & Arginine

1 H 9 i gerel/ ey SR Ay S TR i 8- 1
(31) AR (F) FIhA

(¥) TIT AT (¥1) &

Which among the following product/plant product does not produce hallucination—

(a) Morphine (b) Cocaine

(c) Atropa belladena (d) Datura

et & § Y Aeh/Aeehl sl Aaee | &1 @it U6 g9eRe Qe % €9 § g
L T Ao GERR T 1
(37) TSI FAfHT (&) = o9

() 3EE AR (3) &1, 9,9 9t |

Which among the following scientist/scientists discovered penicillin and got Nobel prize for the
verification of potential as effective antibiotic—

(a) Alexander Fleming (b) Ernest Chain

(c) Howard Florey (d) All (a), (b) & (¢)

HIY Y& e § AT TART Feh WoH AarTs € AT, &1 o feam e 1
(37) 3. FIe (91) wiefelay gHsRy

(|) | SN (7) gty wHafewy

Name the microbe whose plasmid was used for the formation of first recombinant DNA?

(a) E. Coli (b) Agrobacterium tumefecians

(c) Salmonella typhimurium (d) Thermus aequaticus

e glafedfag @ SS9 | 98 TN | Horh 9cF &1t fwan s 22 1
(31) FTE 1 AC (9) %% 1 AB

(¥) #E 2 AC (%) % 2 AB

Which gene of Bacillies thureingensis produce protein for controlling corn borer—



(a) Cry I AC (b)Cry 1 AB

(¢)Cry T AC (d)Cry I AB
(ix) = 1992 ¥ ‘Safafaemr’ W Ufaaiias geot Trer Fal got o1? 1
(a1) faet (&) Sigrger
(w) fefefsafa (7) 8 feeedt
In which place the famous "Biodiversity" Earth Summit was held in year 19927
(a) Sydney (b) Johannesberg
(c) Rio-degenerio (d) New Delhi
2. e ol =t gfd sifse— 4x1=4
) N B qog 1 T FA9EI L FTferRdT T TR T | 1
The inheritence of flower colour in ................. ShOWS ...ocvveennnne. dominance.
(1) N T8 g1 € S eAR =g et 7 i Seta 99 # Hieg fafie fied 9 5y wm

gl 1
........ are the drugs which bind to specific receptors present in our central nervous system and
gastro-intestinal tract.

(iii) SIS sTa&™ & FIMHERE T9E &I <@ gY ¥ 1987 H TH s d@fy ok =t 18 &
........................... T I T | 1
Taking into account the ozone layer depletion in 1987 an international treaty was passed known
S e .

(iv) WS & nifeafaaifag ofd Twifeas g .o IR TEId &I TS | 1
Stanford university ecologist Paul Ehrlich gave the ................... hypothesis.

3. 3fereTe] IE YvT— 8x1=8
() & < Sl % =W foe T sy foem g # 1
Name any two organisms in which external fertilization take place.
(ii) Z.IF.T.Td L.C.S.I. 1 qU M ferfE | 1
Write full name of Z.1.F.T. and I.C.S.L

(iil) ST STeRT % AT ST SR TR0l Bt SR St Hee & TRomE ® g @i R 1
Write the name of scientists who re-discovered Mendel’s results on the inheritence of character.

(iv) ST Fe ‘AUG’ & <1 % Tl | 1
Write two functions of Genetic code ‘AUG’.

(v) HEISirel Tel Hesiiel YaAsial o g1-a1 3ame fafay | 1
Write any two examples of each free-living and symbiotic microbes.

(vi) YA TRFR F Y TS H1 99 d5C S S TH. STEUM Feeh wEl & deifierar W) o=
AR 1
Write name of organisation of Indian govt. which takes decision related to validity of G.M.
research.

(vii) ‘I S RS & B g £7 59 SHRT 1 U SR fafe | 1
Which places/regions are associated with altitude sickness? Write one reason of this disease.

(viil) SRR w1 aitfia Fife | 1



Define bio-magnification.
Qug- ()

TS UIT 12x1% =

4, EhSTA TG SIS I SIREE faav1 it |

Draw a schematic line diagram of Spermatogenesis and Oogenesis.

5. & F g™ AfaRisi o AW UE w1 fafay |

Write name of male accessory ducts and write their work also.

6. Hedd famii % F1g a1 el fore gu foret e wX wifem fooqoft femat |

Write any three examples of Mendelian disorders and write a short note on any one of them.

7. TORIA SRR o T Wi Ure o SRt SHHEy |

Explain the rule of independent assortment with the help of Punnet Square.

8. g fasm wd AfqEt fam § o1<a) T8 1 |

Wirite differences between convergent and divergent evolution.

9. HAME % IgVA Wd Torehrd T wiwd o femoft famar |

Write a brief note on the origin and evolution of Human being.

10. 11 IS H YUT Ao qeA w1 fafy w1 i § 9o w0 1@ 59 T ST ol |

18
1%

1%

1%

1%

1%

1%

1%

Explain in brief the multiple ovulution Embryo transfer technology in cows and write its one

application.

11. Ik Thio frd Tgd &7 SR T SSRLY fafgu |

What is somatic hybridization? Write one example.

12, e sf@ren sifufsRan & Sushuwl, TSeHl & 4 fored gu s9e! o fox g gemisy |

1%

1%

What are the primers and enzymes used in polymerase chain reaction? Describe the PCR with a

schematic line diagram.

13. idsie Gt USTSH fohd e 82 S o1 Sty Toihae Uel =gy 3 €A W, 1 Sie!

TS | YEA 87

1%

Define restriction endonuclease enzymes? Write any two example of these enzymes and write the

name of DNA sequence from where it identity a DNA?

14, 9 SR A9 % Ted Tl a1 Siell o ST fafay | 1%
Write uses of any two organisms under biological control.

15. =fedHel STER ¥ fgdiae STer ste Sitel fomiria STaR 1 Hiem 3 SHesy | 1%
Explains in brief the Secondary treatment or Biological treatment in sewage treatment.

gus - (¥H)
HERSUER RS 3x3=9

16. H&S ThRen fFd F8a 87 39 wimen & fFam 7R & " 21 82 wmems 3
Define Innate immunity. Explain the different types of barriers of innate immunity.

17. Trefafed s aR9a i g8 TH-Tan Seme fafau- 3

(31) FErIRIaT (&) FSfiagsis 91y
(9) sTauefi

Define the followings with one example :



(a) Mutualism (b) Viviparous plants

c¢) Heliophytes
18. ;T)F{F@r%%y;gmw%@f Ed T2 STAW H! YHT % YR W I ohaw THR 1 g 12 Foreht
T o1 Hikw H H9=Ey | 3
What is ecological succession? Write the types of ecological succession on the basis of nature of
habitat? Describe any one of these.
Qug-(T)
IEERICCA ] 4x2=8
19. S TATE. w1 FEEEN Hqpiawor B T, I8 e fag R 1% wom & fowar 9§
HHARY | 4
YT
AR F sTere ufhar w1 wHemsy UE o foad 9w 4
Who proved that the replication of DNA is semi-conservative? Explain in detail their experiment.
Or

20.

Explain the process of transcription in bacteria and draw a schematic line diagram also.

T GEdT STelsi IIed H o ISY] S 1 Uishan sl foear § F0ed g qRass yor el

1 FRE Fom sAEy | 4
gar

AT fRA YR 1 Bl 37 wikm § feof fafen v weme & fee T el wRE R

IS0 Higd THART | 4

Explain in detail the process of megasporogensis in a typical angiosperm plant. Draw the diagram
of a mature embryo sac.

Or
What are the types of pollination? Write note in brief and explain any one abiotic agent of
pollination in detail with examples.
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